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Q.No: 1 The salinity of soil is usually assessed by which equipment it @t AauraT F7 B AR Wy
A Hydrometer gIggHer

B Turbidometer efdsiiier

C Hygrometer HERILICR

D Electrical Conductivity Meter fagga are®an diex
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Q.No: 2 Who discovered the method of preservation through canning

A

B
C
D

o 0O w P» O

O 60O ®m >» O

.No:

.No:

Nicholas appert
Gay-Lussac
Louis Pasteur

Gane

First bioinsecticide developed on commercial scale and the trade name given to the commercial product made from
Bacillus thuringiensis was

Sporeine
Quinine
DDT

malathion

4 Which country has the highest livestock population?

USA

Brazil
China
India

Q.No: 5 A perfectly competitive market is where there are:

A

Less seller many buyer
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B Many seller less buyer P3 fadar #0 @R
Less buyer and seller PH TSR 3N faghar
D Many buyer and seller 3)‘{ WER 3R fagpar
Q.No: 6 IPM stands for 3TEUITH BT HATH 8-
A International Plant Management SRIPI waF yaeA
B Integrated Plant Management THIPpd IUF wEeUT
C International Population Management RIS SE= yae
D Integrated Pest Management TPIPd Bie YU
Q.No: 7 Forests can prevent soil erosion by binding soil particles in their __ . qq 3 ﬁﬁ?ﬁﬁi PHU Bl Iy
A Thick Stems e a
B Roots et
C Branches BULGIE]
D Dried Leaves o T
Q.No: 8 Due to heavy rainfall rainwater does not soak into the ground, but runs into streams and rivers, it is called- Rt 9ot & HROT auf &7 o 'l-ﬂ'}-fﬁ:fg)f@"
A Ground water ySrd
B Rock water @ qrex

Under ground water yold & -
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D Surface water

Q.No: 9 velliacolamban a dwarfing rootstock is

A Octaploid
B Diploid

C Tetraploid
D Hexaploid

Q.No: 10 Which is the largest maize producing Indian state, as per 2013-14 records?

Karnataka
B Maharashtra
Cc Andhra Pradesh
D Madhya Pradesh

Q.No: 11 According to the projected estimate contribution of livestock to the total agricultural output in India is:

A 14%
B 11%
o 7%
D 5%
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Q.No: 12 which of the following Union Territories are included in the National Horticulture Mission?

A

B
C
D

Andaman & Nicobar Island & Lakshadweep
Andaman & Nicobar Island and Pondicherry
Andaman & Nicobar Island and Daman & Diu

Andaman & Nicobar Island, Pondicherry and Lakshadweep

Q.No: 13 Thurioside is a toxin produced by the bacterium Bacillus thuringenesis and is used as
Fungicide

B herbicide

o Insecticide

D Weedicide

Q.No: 14 Planting technique in which one or more rows of trees or shrubs planted in such a manner to provide shelter from wind
and protect soil from erosion is:

A Windsheeter

B Windcheater

Cc Windows

D Windbreak

Q.No: 15 Case study is:

Method of exploring and analyzing of life of social unit
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B Evaluation
Problem solving

D Method of collecting data

The biological control of agricultural pest is because it is a part of ecosystem and is self sustaining unlike the

Q.No: 16 )
chemical control

Self-perpetuating

B Creating pollution
C Very costly
D Imbalancing the nature

Q.No: 17 A computer software system titled Field Runner was developed to

Analyze chlorophyll content in infected plant

B Sampling plants for disease
C Measuring photosynthetic rate of plants
D pattern of the flight of vectors

Q.No: 18 First commercial inorganic pesticide was :
A Bordeaux mixture

B DDT

C sulphur dust
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Q.No: 19

O 0O @

Q.No: 20

O O W

Q.No: 21

o 0O W

2,4-D fumes

National Agricultural Cooperative Marketing Federation of India Ltd. Has its headquarters at :
Chennai

Ahmadabad

New Delhi

Kolkata

Maximum permissible amount of sulphur dioxide in cordial
350ppm
550ppm
500ppm
100ppm

Which first commercial pesticide was invented in one of the region of France in the late 19th century
Bordeaux mixture

DDT

malathion

Burgandy mixture
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.No:

O 0o wm >» O

Q.No: 23

O 0O @

Q.No: 24

O O W

Q.No: 25

with which rocks.
Sedimentary rocks
Igneous rocks
Volcanic rocks

Metamorphic rocks

What soil is rich in Calcium carbonate and calcium oxide?
Pedocal

Pedacum

Pedazol

pedaoxi

A codified system of mores is generally called:
Customs

Laws

Values

Norms

“Yellow heart” disease of sugar beet is caused due to:

Boron deficiency
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Q.No: 26

O 0O @

Q.No: 27

O 0O W

Q.No: 28

Air pollutant
Moisture stress

Salt toxicity

Which is the largest tea producing state in India?
Kerala

West Bengal

Assam

Tamil Nadu

In semi-arid regions of Rajasthan which one is the traditional system of storing drinking water in underground tanks
are called

Johads
Tankas
Kuls
Khadins

Which model is not used to estimate soil loss?
SLEMSA model
Exterio model

RUSLE models,
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Q.No: 29 Exhausting temperature of canned fruit and vegetable is

Q.No: 31
A
B
C

USLE model

Fruit firmness is measured by
Tensiometer
Penetrometer
Refractometer

Borometer

Analysis of variance utilizes:
Chi square test
z test

t test
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Q.No: 32

O 0O W

Q.No: 33

O 0O @

Q.No: 34

O 0O

f -test

In north india pruning in grape is done in the month of
July

January

Oct

March

The most effective method for Soil erosion prevention is to
Heavy rains

Deforestation and overgrazing

increase vegetative cover

urbanization

When a free living natural predator applied on the other pathogenic organisms to control them, this process is called-
Biological control

Artificial control

Estragon

Selvin
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Q.No: 35 The most important factor affecting soil formation which have a tendency to speed up the formation of soil

A Climate

B pH of soil

Cc Soil colour

D Moisture in soil

Q.No: 36 Which of the following is not an important element in communication?

Sender
B Noise
Cc Receiver
D Message

Q.No: 37 Indian Rice Research Institute is located at which place?

A New Delhi
B Chennai

Cc Hisar

D Cuttack

Q.No: 38 IADP programme was started in 1960 in the month of:
A July
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Q.No: 39

O O

Q.No: 40

O 0O W

Q.No: 41

October SgaR

September Rrasx

August ST

Which among the following is the largest food grain producing state of India? gl & ¥ 1 11 IsT YR BT Ted
Uttar Pradesh IR U

Punjab UolTg

Rajasthan TSR

Madhya Pradesh g U

Ploidy level of Aonla is 3Tl BT @ZS TR B.....
Auto tetraploid 3fel ¢eTdigs

Auto hexaploidy aifer %ERHTTﬁSEﬁ

Auto octaploid el fiaeTwss

Auto triploid et feuaiss

Which system is based on the principle of harvesting rainwater on farmland and subsequent use of this water-saturated A @ yoredt m "iﬁ'f U A e w
land for crop production?

Saza tanka 1Ol €hT
Tanka HT
Khol G|
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Q.No: 42

O 0O W

Q.No: 43

O 0O W

Q.No: 44

O O @

Khadin

Clinching is carried out before
Sealing

Syruping

Exhausting

Processing

Soil Erosion due to rainfall is called
Sheet erosion

splash erosion

Rill erosion

Gully erosion

Soil of Western Rajasthan is rich in-
Magnesium

Nitrogen

Sulfur

Calcium
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Q.No: 45

O 0 W

Q.No: 46

O 0O W

Q.No: 47 The very first pesticide used by man to prevent this crop from damage is-

A

B
C
D

Q.No: 48

Which crop is the most effective in controlling soil erosion
Green gram

Fenugreek

Pigeon pea

Soybean

Grow more food campaign was started in:
1946
1950
1948
1949

Sulphur dusting
Pyrethrin
Pheromone

Malathion

Wind breaks are planted in orchards towards which direction?

North-West
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Q.No: 49

O 0O W >

Q.No: 50

o 0O W

Q.No: 51

East-South qd-gfaror

North-East IWR-gd

South-West cfeor-ufsim

In 1981, which is the first bioherbicide developed in 1981 to deal with 1981 ff, : St B wd B IR vy § Bged aﬂ%ﬂ'\f 1981 & fipTg fpar T &)

Morrenia odorata, that is the type of milkweed vines, in fields of citrus plants » :
’ ' gfovss & ®u H fosar A B
and since then it is used till today as a bio-herbicide is %

Phytophthorapalmivora BIS e TRIRTUTTRIERT

Phytophthorainfestans W@"Rﬁi’lﬁ?‘f

Azadirachtaindica SrTfeRTaS BT

Bacillus thuringiensis ARy yRcAR™T

Who announced the introduction of National Food Security Act? ?T@?:I qre] &l STy ot R[S ST BT
Manmohan Singh HHE R

Pranab Mukherjee qorg H@Gﬁ

P. Chidambaram 4t fRiderw

Arun Jaitley 3BT Sedt

Methyl isocyanate gas is used as a raw material for synthesizing carbaryl whose trade name is . s &E@F@Eﬁﬁwmﬂm
Hit fee

Baygon LI
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Q.No: 52

o 0O W

Q.No: 53
A

B
C
D

Q.No: 54

o 0O W

Selvin

Flit

Browning of fruit and their product is due to
Amilase

Polyphenolase

Pectinase

Potinase

The National press day is observed on :
16th November

16th June

16th September

16th October

Breba is parthenocarpically produced crop of
Grape

Fig

Mangosteen

Almond
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Q.No: 55
A

B
C
D

Q.No: 56

O 0O W

Q.No: 57

O 0O W

Q.No: 58

Apple of paradise is
Mango

Fig

Banana

Pineapple

Height and weight are obvious examples for
Ordinal level

Ratio level

Nominal level

Interval level

Food grain production includes the production of:
Cereals, Pulses and Oilseeds

Cereals only

Cereals and Pulses

Pulses only

National Extension service was started in the year
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A 1953 1953

B 1952 1952

C 1954 1954

D 1951 1951

Q.No: 59 The degree to which an individual’s orientation is external to a particular social system is: fheh @ I usfa & fore o 54
Cosmopoliteness TERITHICT BT UTd

B Distraction fawdur

o Localiteness RIFEAr YTa

D Attitude Siftgf

Q.No: 60 Which is not the principle of landscaping? TTH @ D ASWHIUT BT RIGid el 82

A Unity Uhdl

B Rhythm Rew

C balance BLGES

D Line ¥ (drE)

Q.No: 61 Which third generation pesticide show a great specificity to the pest or insect targeted and they do not kill the insect ?ﬂﬁtﬁa?m ﬁ? T DIcARIS AfEd Dic
directly but prevent the development of their larvae ? fa®r &) Aewd %?

A Sterilogastrone whanwq

B Pheromone BRI
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Q.No: 62

O O

Q.No: 63

O 0O

Q.No: 64

O 0O w

Juvenile hormone analogue

estragon

Which is known as the most successful microbial insecticide against the different orders of insect pests in agriculture
B. bombyx

B. subtilis

B. polymixa

B. thuringenesis

Speaking and writing involve which communication skills:
Encoding
Decoding
Feedback

Knowledge

Which among the following is not correct regarding Pomology?
Marketing of Fruits

Planting of Fruits

Harvesting of Vegetables

Marketing of Fruits
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Q.No: 65 What is the colour of the certificate issued for a breeder certificate?

Red
B White
Cc Blue
D Green

Q.No: 66 Which among the following does not belong to welfare schemes for the farmers?

National Agricultural Insurance Scheme

B Employee Referral Scheme
C Kisan Credit Card Scheme
D SHG Bank Linkage Programme

Q.No: 67 Most heavily pruned fruit plant is

A Ber

B Loquat
C Apple
D Guava

Q.No: 68 Which one is the first synthetic organic insecticides

GET IT ON

Google Play
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o 0O W >

Q.No: 69

O 0O W

Q.No: 70

O O

Q.No: 71

ryania
Neem oil
Rotenone

DDT

The beneficiaries under SGSY is:
Rural women

Swarojgaries

Rural youth

Slum people

Crystalization in jam occurs due to
Excess of water

Lack of Sugar

Excess of acid

Excess of sugar

In which discipline we study soil science which focus on soil formation and other characterstics ?

Pedagogy
Fedalogy
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® Nerology ENGIE|
Pedology LEIGIE
Q.No: 72 Which of the following is the largest fertiliser producer in India? fofafed # 9 YRa @ ge9 a@,TW 3¢
Rashtriya Chemicals & Fertilizers Ltd. AT HUFE ts Wﬁ?l‘l?ﬁl’\‘f fafes
B Indian Farmers Fertiliser Corporation Limited gfeua B widamger FRURTH fof
® Coromandel International Ltd. PRIFSH FevAd fafies
D Gujarat State Fertilizers & Chemicals Ltd. ToRTd e Bidaged Us s faf

Dinocap, a dinitrophenyl, was first registered in the late 1950s
Q.No: 73 and has been used as a contact fungicide to control fungus and is &%, T SRMACGTEd, UgH IR 1950 & T & 3fd H Usiigrd faram M7 AT 3R T/ FHad &

sold in market as

A flit fiefere

B Karathane HIAYH

C Baygon I

D Botron CiciE]

Q.No: 74 ________ convert nitrite (NO,) into nitrate: __ ¥mwTE (NO,) B TS
A Azotobacter THlcIageR

B Nitrobacter ATgeldaey

C Rhizobium MELERE
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Nitrosomonas

Q.No: 75 In which of the following countries, International Rice Research centre is Located?

O O W

Thailand
Indonesia
Malaysia

Philippines

Q.No: 76 Which type of Rain water harvesting can be used for recharging aquifers?

O O @

First floor run off
Top shed water
Surface run off

Roof water off

Q.No: 77 Black soils are mineral soil which have a black surface horizon and is ideal for cultivation of cotton as

O 0O

They can retain moisture
Their colour is black
They are found on plateau regions

They are made of lava
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Q.No: 78 DDT was first synthesized in 1874 by which Austrian chemist

O 0O W

Q.No: 79

o 0O W

Q.No: 80

O 0O W

Q.No: 81

Ray
Othnar Zeidler
Paul Muller

Rosa de John

What is the main problem caused by the use of pesticides
insects have become resistant to DDT

they do not degrade in the environment

They deform the parts of some fishes

They change colour of the soil

Dry neck is the disorder of
Cashew

Guava

Apricot

Avocado

Nationalization of commercial banks happened in :

1969
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B 1965
1971
D 1967

Q.No: 82 water core disorder of apple is formed due to

A Water stress

B High temperature

Cc Water excess

D Formation of ice crystal

Q.No: 83 Sugar present in DNA and RNA respectively are:

A Galactose and Raffinose
B Erythrose and Stachyose
Cc Glucose and Fructose

D Deoxyribose and Ribose

Q.No: 84 Bamboo drip irrigation system is an ingenious system of tapping of stream and spring water used widely prevalent in:
A Nagaland

B Meghalaya

C Madhya Pradesh

GET IT ON
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.No: 85
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.No: 86

o 0O w P» O

Q.No: 87

O 0O W

Haryana

Bengal Gazette was published from:

New Delhi
Calcutta
Bombay

Madras

Microlab exercise in a training programme is conducted at its :

Beginning
Anytime
Middle
End

Self- unfruitful variety of peach is
Sharbati

J.H Hale

Shan e punjab

July elberta
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Q.No: 88

O 0O @

Q.No: 89

O O W

Q.No: 90

o 0O W

Which genetically engineered crop developed to tolerate glyphosate, as well as other herbicides, allowing farmers to
use glyphosate to kill milkweed in the field.

Corn and soybean
Tobacco and rice
Rice and wheat

Maize and sugarcane

Who among the following Indian Economists have played a crucial role in the MNREGA formerly NREGA?
Jagdish Natwarlal Bhagwati

Jean Dreze

Amartya Sen

Dr. Vijay Kelkar

Damping off and leaf blights are very effectively checked by Spraying or drenching the soil with a recommended anti-
fungal treatment also helps suppress the disease is

Borax powder
Copper oxychloride
tween

malathion
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Q.No: 91 Multiplying five parameter R (the rainfall erosivity factor), k (the soil erodibility factor), LS (the topographic factor), C(the crop management factor) and P(the

A Soil loss per hour

B Average annual soil loss
C Soil loss per minute

D Soil loss per day

Q.No: 92 Gladiolus is propagated through

A Stem

B Bulb

Cc Tubers
D Slips

Q.No: 93 An example of parallel cropping is:

A Wheat + mustard
B Potato + Radish

R STITT BT YAR fhaes A1em | 8T &
T
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&g
&

TJAFTR B! BT Th ISR 3:
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.No: 95

.No: 96

Sugarcane + Potato

Potato + Mustard

Kinnow mandarin was developed by
W.B.Hayes

Moss

H.B Frost

T.Tanaka

The Kisan Credit Card Scheme was introduced in the year :

1999-2000
1996-97
1995-96
1998-99

The difference between what is and what ought to be:
Goal

Objective

Need

Aim
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Q.No: 97
A

B
C
D

Q.No: 98

O 0O W

Q.No: 99

O 0O W

Which state was the leading producer of fish in India during 2013-14 records?
Maharashtra

West Bengal

Gujarat

Andhra Pradesh

Society can be considered as :
Concrete

Abstract

Theoretical

Imaginary

Trichograma japonicum is a minute wasp or parasitoid and is the best biological method of control for which common
pest found in paddies.

chilonis Ishii
rice stem borer
Rice hispa

Pink stem borer
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Q.No: 100
A

B
C
D

Q.No: 101

O 0O @

Q.No: 102

O 0O W

Q.No: 103
A

Which soil are very fertile loamy texture and rich in humus ?
Alluvial soil and clayey soil

Peat soil and red soil

Silt soil and sandy soil

Black soil and silt soil

The Rio Convention endorsed the global Forest Principles and adopted which of the following agenda for achieving
Sustainable Development in the 21st century?

Agenda 21
Agenda 30
Agenda 18
Agenda 12

Which of the following countries is Arnis the national martial sport of?
China

Suriname

Philippines

Chile

Which of the following indicates the north direction?

Alpha Orionis
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.No: 105

.No: 106

Dog Star
Pole Star

Rigel Kent

Which of the following is the only ground for the impeachment of the President of India?
On found not capable of leading the post

For Proved misbehavior

For the violation of Constitution

On found guilty of a Criminal Offence

In which of the following years was the Sangeet Natak Akademi inaugurated?
1958
1955
1953
1950

In which year was the first-ever Wimbledon played?
1862
1854
1877
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Q.No: 107

O 0O @

Q.No: 108

O 0O w

Q.No: 109

O 0O @

1886

Goswami Committee on electoral reforms was set up in which of the following years?
1996
1987
1990
1974

In which area of Madhya Pradesh is the Satmarhi Temple situated?
Harad

Badoh

Majholi

Bakeli

Between which two countries was the final match of the Men's Cricket Asia Cup played in 2022 ?
India & Afghanistan

India & Pakistan

Pakistan & Sri Lanka

Sri Lanka & India
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Q.No: 110

O 0O @

Q.No: 111 The Constituent Assembly took how much time to complete the Constitution of India?

A

B
C
D

Q.No: 112 The Ankiya Naat or Ankiya Nat is a traditional dance of which of the following states?

o 0O W

Q.No: 113
A

Which of the following High Courts has been conferred with the common jurisdiction of all the Seven North Eastern

States?

Gauhati High Court
Orissa High Court
Calcutta High Court
Jharkhand High Court

2 Years, 09 Months and 17 Days
2 Years, 11 Months and 17 Days
2 Years, 09 Months and 28 Days
2 Years, 11 Months and 28 Days

Assam
Madhya Pradesh
Tamil Nadu

Punjab

In which of the following states is the Ginjee Fort situated?

Telangana
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Tamil Nadu affra-rg
Cc Karnataka PHlcd
Kerala C|
Q.No: 114 Which of the following is the largest of all Ahom monuments? fafrfeg & @ oF T oem WRe! A 3
Talatal Ghar ddrde U
B Madan Kamdev e HWed
C Agnigarh 3frTe
D Da-Parbatia ar-uRafear
Identify the segment in the sentence which contains the grammatical error from the given options.
Q.No: 115
The thin wire that giving off light is called the filament.
A light is
B the filament
o giving off
D The thin wire

Q.No: 116 Out of the given options, choose the most appropriate word/set of words to fill in the blank.
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We orange juice in breakfast.
A drank
B have drink
C have drank
D has drink
Out of the given options, choose the most appropriate one to fill in the blank.
Q.No: 117
The students the task in less than ten minutes.
A has accomplished
B has accomplish
o accomplished
D have accomplish
Out of the given options, choose the most appropriate word/set of words to fill in the blank.
Q.No: 118
An unforeseen difficulty.
A have arise
B have arisen

has arise
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D has arisen

Identify the segment in the sentence which contains the grammatical error from the given options.
Q.No: 119

Seeds of mustard plants give us oil and the leave are used as a vegetable.
as a vegetable
leave are used

give us oil

o 0O W r

Seeds of

Select the most appropriate option to fill in the blanks.

Q.No: 120

Natasha longed for the chance to to him in private.
speaking
speak

speaks

o 0O w r

spoken
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Q.No: 121

O 0O m >

Q.No: 122

o 0O @ »p

Q.No: 123

Parts of the following sentence are given as options. Identify the part that contains a grammatical error. If there is no error, select 'No error'.

It is comprised with two different neural networks, a rule set and a graphics interface.
No error

different neural networks, a rule

set and a graphics interface.

It is comprised with two

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the one which can be substituted for the given pt

Maria was asked to blow up all the balloons for the House warming Ceremony.
inflate

discard

keep

throw

DIRECTIONS: In the following questios, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the se
choose “No Improvement” option.
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A lot of people has left this place.

A No improvement
B had been left this place
Cc have left this place
D will be left this place

Parts of the following sentence are given as options. Identify the part that contains a grammatical error. If there is no error, select 'No error'.
Q.No: 124

She say that she feels very lonely and depressed living in that big house.
A very lonely and depressed
B living in that big house.
o She say that she feels
D No error

Fill in the blank with the correct article.
Q.No: 125

least we can do at the moment is to support him.

No article is required.

B the
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Fill in the blank with the correct preposition.

Q.No: 126
My mother slapped me __ my face.
A over
B on
C at
D for

The question below consists of a set of labelled sentences. These sentences, when properly sequenced, form a coherent paragraph. Select the most logical «
P. Later, the man and boy ate dinner in the hotel restaurant, and they went to sleep.
Q.No: 127

Q. The receptionist noted the quiet manner of the guests and the pale appearance of the boy.

R. A man and a young teenage boy checked in to a hotel and were shown to their room.

A RPQ
B PQR
C QPR
D RQP
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Q.No: 128

o 0 m »

Q.No: 129

O O wmw »

Q.No: 130
A
B
C

Out of the four alternatives given below the sentence, fill in the blank with the correct word.

What will you in future?
be

was

were

been

Parts of the following sentence are given as options. Identify the part that contains a grammatical error. If there is no error, select 'No error'.

All these things happened because she does not hear my words.
All these things happened

No Error

hear my words

because she does not

The main root of a plant is also known as which of the following? e 31 T ofe & Fgffed & § feg -
Fibrous roots. ISR oS
Central Root FE oS

Lateral Root 1y sie
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Q.No: 131

O 0O W

Q.No: 132
A

B
C
D

Q.No: 133

o 0O W

Tap Root

In which of the following processes plants absorb nitrogen in the form of nitrates to prepare amino acids?
Nitrogen Fixation

Nitrogen assimilation

Nitrification

De-nitrification

Which of the following gases makes major percentage in bio-gas?

Butane
Propane
Ethane

Methane

Which of the following is the process of burning of waste after segregating the recyclable material?

Combustion
Incineration
Gasification

Pyrolysis
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Q.No: 134 which of the following position-time graphs represent zero acceleration and uniform velocity?

Q

O 0O W

O O W » O

The relationship in which the organisms live together and share both shelter and nutrients are known as which of the
following?

.No: 135

Saprotrophic
Symbiotic
Parasites

Heterotrophs

.No: 136 Which of the following is the largest gland in the human body?
Adrenals
Liver
Kidney

Pancreas
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Q.No: 137 Which of the following plastics is coated on the uniform of firemen?

A

B
C
D

Q.No: 138 The thousands of fingers like growth on the inner wall of the small intestine is known as which of the following?

O 0O W

Q.No: 139
A

B
C
D

Q.No: 140

Melamine
Polystyrene
Acetal

Cellulose nitrate

Ruminants
Villi
Cud

Cellulose

Which of the following metals are placed below Hydrogen in the electrochemical series?
Lead

Aluminium

Zinc

Copper

What is the colour of the outermost zone of complete combustion of a candle flame?
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Orange
Green
Blue

Red

Q.No: 141 Which of the following statements is NOT correct?

O 0O @

HIV can be spread through vectors but not carriers.
Vectors are disease-free organisms.
Carrier is an infected organism.

Fungi and plants can be vectors.

Q.No: 142 Which of the following diseases is also known as “whooping cough”?

A

B
Cc
D

Measles
Pertussis
Tetanus

Pneumonia

Q.No: 143 Which of the following should NOT be deposited on iron to prevent it from rusting?

A
B

Chromium and nickel both

Zinc
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Sulphur

Chromium

Q.No: 144 Virtual memory is -

O 0O @

An illusion of an extremely large memory
A type of memory used in super computers
A secondary memory acting as main memory

An extremely large main memory

Q.No: 145 which of following is basic data type?

o 0O W

Array
Character
Structure

Union

Q.No: 146 What does T stands for in T flip-flop?

O O

Tickle
Type
Top
Toggle
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Q-No: 147 The RAM is located in which part of the computer system? RAM $R Red & g umT & f[Ryd §

A Expansion Board foar €

B uPs guTE

® Monitor Tifex

D Mother Board LENE IS

Q.No: 148 1024 TBis called as ____. 1024 TB & ____ &gl Sl 32
1 GB 1GB

B 1EB 1EB

C 1PB 1PB

D 1 KB 1 KB

Q.No: 149 while working in mail we may came under the ‘BCC’, what does B represents? Od ¥ HH Hd 999 89 'bec’ & dgd
Black Black

B Blink Blink

o Blind Blind

D Broad Broad

Q.No: 150 what is the short cut to justify the paragraph? 3D E DI FWTd §H & g Wiaed 3
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Q.No: 151

O 0O @

Q.No: 152

O 0O

Q.No: 153

Ctrl + E Ctrl + E

Ctrl +J Ctrl +J

Ctrl + U Ctrl + U

Ctrl +1 Ctrl +1

Which of the following layer is responsible for converting electrical impulse to bit streams? ﬁa’qa ya1g & fae yrrsit & gRafdd &<
Physical frforpa

Network Aead

Data link sTeT e

Presentation PECRE]

SRAM retains data as long as power is provided to the memory chip and need not be refreshed periodically. What does SRAM éﬂﬁﬂﬁﬁwm%\_ﬂ?

‘S’ represents? %I 'S' T T-ial %?
Static wfew

Stagnant WIHe

Storage wWRS

Simple Riger

The data are modified to specific code and protected in the sender side while transferring, and the special key is used a1 o ARy ®is & I=nfid fvar o
to retrieve the original data in the receiver side What is the process used in receiver side to retrieve the original data? & %Hﬁ-‘?lﬂ@ﬂ B TN fHar Sirn %I

Encoding Encoding
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Q.No: 154

O O

Q.No: 155

O O

Q.No: 156

Encrypting
Decoding

Decrypting

Which of the following is used by the browser to connect to the location of the Internet resources?
URL

Cable

Protocol

Linker

What do you mean by Output in computer terminology?
What the user gives to the processor

What the processor takes from the user

What the processor gets from the user

What the processor gives to the user

Which of the following is not a Modifier Key?
Ctrl
Shift

Insert

GET IT ON
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D Alt

Q.No: 157 1If you magnify a you can see its individual pixels.
A DXF

B bitmap

C EMF

D vector graphic

From the given alternative words, select the word which cannot be formed using the letters of the given word.
Q.No: 158
SPECULATION

SECULAR
CAUTION
TOPIC
SPECIAL

o 0O wm P

Select the term that will come next in the following series.
Q.No: 159

BC, GH, LM, ?
Qs
QR
oP

GET IT ON

Google Play
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D PQ PQ
Select the term that will come next in the following series. I UG P 999 o, o Fafafad PICEIE
Q.No: 160
LO, TW, BE, ? LO, TW, BE, ?
A M M
B IT IT
Cc IL IL
D HL HL
Find the missing number in the series. el § e ST J1d Hiferg |
Q.No: 161
6, 8, 14, 26, 46, ? 6, 8, 14, 26, 46, ?
A 82 82
B 76 76
Cc 80 80
D 84 84

Q.No: 162
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Y Y

Q.No: 163 "Yorker" is related to "Cricket" in the same way as "Gambit" is related to ? forg Re F "gihr" "fppe" J Fafrd g <
Chess RIE s |

B Snooker HhR

C Gymnastics rfes

D Wrestling ol

Q.No: 164

A Truck : Carrier TP : PR

B Ship : Harbour STETS : BTN

C Car : Highway PR : TSR

D Bike : Mechanic qMEP : AP D

Q.No: 165 Pis to t'hg nort.h of M, U.|s to.the south-east of M, N is to the east of M, T is to the south of M. If U is to the east of T, P M %Wﬁ%, U M ésaf\&rm-qafﬁ%
then P is in which direction with respect to U?

A South-east aféor-gd

B North IR

(o North-west IWR-ufdw
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Q.No: 166

O O W >

Q.No: 167

o 0 @ P

Q.No: 168

North-east

Find the missing number in the series.

400, 394, 378, 352, 316, ?
260
290
280
270

From the given alternative words, select the word which cannot be formed using the letters of the given word.

ILLUSTRIOUS
TRUST

RUST

LUST

RIOT

Find the missing number in the series.

18, 31, 42, 49, 54,7
60

GET IT ON

Google Play

IWR-gd

g § g WA 1A DI
400, 394, 378, 352, 316, ?
260
290

280
270

Prafifed el 3 3 a8 T 9T o

ILLUSTRIOUS
TRUST

RUST

LUST

RIOT

g § g WA 1A DI
18, 31, 42, 49, 54, ?
60
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Q.No: 169

O 0O W

Q.No: 170

o 0 @ P

Q.No: 171

62
57
56

Stars
Fish
Birds

Musicians

From the given words, select the word which cannot be formed using the letters of the given word.

ALTERNATIVES
NATIONAL
NATIVE

ALTER

TEN

Select the term that will come next in the following series.

IX, JW, KV,

GET IT ON

Google Play

62
57
56

veft

Prafifed el 3 3 a8 T 9T o

ALTERNATIVES
NATIONAL
NATIVE

ALTER

TEN

3 US &1 T B, St Fufafad gRaan

IX, JW, KV,
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o 0O W r

Q.No: 172

O 0O

Q.No: 173

O 0O

Q.No: 174

LS
LU
LT
LM

In what ratio must a grocer mix two varieties of pulses costing Rs. 15 and Rs. 20 per kg respectively so as to get a
mixture worth Rs. 16.50 per kg

7:3
7:5
5:7
3:7

The cost of Type 1 rice is Rs. 15 per kg and Type 2 rice is Rs. 20 per kg. If both Type 1 and Type 2 are mixed in the
ratio of 2 : 3, then the price per kg of the mixed variety of rice is:

Rs. 18
Rs. 18.50
Rs. 19
Rs. 19.50

GET IT ON

Google Play

LS
LU
LT
LM

U R ST &1 &1 af fareAl St A
ufa frawm = ffa 9%

7:3
7:5
5:7
3:7

P 1 & I9d &1 AN 15 30 Ul b
fe® 2 &1 2: 3% 3ua & fBramn S

Rs. 18
Rs. 18.50
Rs. 19
Rs. 19.50
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A 41 41

B 43 43

C 49 49

D 55 55
A man had a certain amount with him. He spent 30% of that to buy an article and 10% T Sfdd & 9 O fARaa O § 9

Q.No: 175/ of the remaining on transport, then he donated Rs. 120. If he is left with Rs. 2400. The T g9 F 10% AT W T &l
amount he spent on transport is - T I A AaRE ) R g [

A Rs. 280 Rs. 280

B Rs. 960 Rs. 960

C Rs. 720 Rs. 720

D Rs. 140 Rs. 140

Q.No: 176 If 10% =3, then 10-8* = 2 am10% =1, % dr10-8 =2

A 256 256

B 80 80

C 16 16

D - 1

256 256
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Q.No: 177

o 0O W r

Q.No: 178

O 0 W >

Q.No: 179 The unit's digit in the product 81 x 82 x 83 x

A

B
C
D

Which one is the greatest of these numbers?
(0.2)% 1/100, (0.01)*?, (0.008)*2.?
(0.01)¥2

(0.008)"2

(0.2)?

1/100

An employee works for 80 hours per week & earns Rs. 3200. If his per hour wages is
decreased by 20% & duration of work is increased by 16%%. What will be change in

income?

Rs.144.6 decrease
Rs.214.4 increase
Rs.214.4 decrease

Rs.144.6 increase

2

8
6
0

x 89 will be:

GET IT ON

Google Play

T 7 A Bl T g HEAT 2
(0.2)% 1/100, (0.01)*2, (0.008)*2.2

(0.01)*2
(0.008)*2
(0.2)?
1/100

U HHAT g7 gFd 80 He H &ar & 31
Te STar & 3wt Fr aag 1629»a®aarrn

¥.144.6 HH

¥.214.4 gfs

¥.214.4 HH

¥.144.6 IS

UH 81 x 82 X 83 X ........ X

o O O N
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In an examination, 50% students failed in English and 40% in Maths and 15% students uF qfiaT F 50% TTF 3T & % g
Q.No: 180 failed in both subjects. If 200 students passed in both the subjects. Find the number of i >
students appear in Exam. 7fg 200 TF g1 fawar & o g grar

A 2000 2000
B 400 400
C 800 800
D 1000 1000
Q.No: 181
56 56
B 61 61
C 42 42
D 48 48
Q.No: 182 1f 43% of x is 731. Find the value of x: Ifg X & 43% T AT 731 &1, @ X & A
1900 1900
B 790 790
C 1700 1700
D 1740 1740
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Q.No: 183
80 80
B 70 70
C 60 60
D 55 55
No: 184 Two types of tea costing Rs. 180/kg and Rs. 280/ kg should be mixed that obtained mixture sold at Rs. 320/kg to T 180/Frem AR F9F 280/ e wwETd
Q.No: earn a profit for 20% is 9T 9= T 20% &7 o1eT Hioid ar?
A 2:13 2:13
B 4:13 4:13
C 3:13 3:13
D 1:13 1:13
Q.No: 185
A 1398 1398
B 1352 1352
C 1446 1446
D 1424 1424

Q.No: 186 a/g ‘& &d ga WIg’ by BT BT Tet I<TE 8?2
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A egeqHg AP
B T yfdsgsTa
C SIH YAdTA

D H@HTH HfTsTpTa

Q.No: 187 Fefufad § @ “eeard” g yafgarh s 82

A SffraTy
B SUIGIN
C e

D YA

Q.No: 188 f=fafad # ¥ -1 A didifad o1 Taferd/Ig! U 872

A PG W 7 I " 7 AIGA 4G gaan|
B FIgd g1 ST A T AIGH 4Rl

C P 1T - I A HF AIGT |

D PIAT B 7 I 3R W T g JUa|

Q.No: 189 fm=fifad & ¥ fbar “gaRMI” BT UGS M T HIH-TT 82
A T
B BENEILE
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Q.No: 190 fF=fifad & | SIH-11 U TR} Hia -Tel 872

A T
B T
C faure
D g

Q.No: 191 FHfIREd & ¥ Yg a9 &I 99 Bifore-

A W R R B1 5 gan B
B frepi=r AT T FEt 7T B
C STHTR 9gd ST gl

D Tl »1s tp WY afe e 21

Q.No: 192 fF=fifed & 3 foa gy § fovm Rl &1 v 98t fosan man g2

A AT 7 9 A PBT — X, T TG ¢ DA M2
B AT 3 ¢ A $T: "R T I 3, B SR
C AT A A A FeT — "R 8 W 8, FI 332~
D AT A I A T — "R T @ ¢ B A1
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frefafed 3 @ a8 Ywifea g™ & fou -9 i 7 fasedt & 3 Ifrd ggrak &1 99+ sifo-

Q.No: 193
Y& Aarsfl & HRU HIUY g9 8R T
A T B gl
B gfear ga S|
C TS WR B B T
D 3T ARATI

Q.No: 194 FEfifad & § “U=da” & AR HH 87

A farsuy =t

B ¥3 Mfa= T

C ST I Y[
D EP T @At

Q.No: 195 Fefafad § A H19-T1 Tsa gad e el 82

A 3D
B ! ppd
C PR
D I
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Q.No:

O 0O

Q.No:

O 0O W

Q.No:

O O W >

Q.No:

= |V

196 ffafad & ¥ 9IS R YaR” &1 Yel YRS UG $HIH-37 82
YSUAR
S qaR

YSHaIR
NSTYAR

197 Ffafed # 9 wsg-gm “aft-ault” & I8t ol g &1 9o Sifon-

(92

I- 91T

T - gaid
¥ - 9§9R
WA - UPR

R & & i et o1 T AR
198

YgrE™, Tfe™
gfl, AT

T, YT
fewrera, ehenffy

199 AT # ¥ 3 adHl ardl Wsg BT 9o BIfoE-

GET IT ON

Google Play
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A TMefar
B Tt
C guffoRe®
D ICE IR

Q.No: 200 ffafed & I 39 a9 &1 997 P, oy IaH, AW T 3R Qevards -1 ST wanT f&ar 7 g2

A & sgar § o Afeal gadt o W@ 21

B AR SMYH) T AT % 98 e ¥ 9gd AW B
C 9, goIrd1 &) Tod § frem o) a1 81

D T I 91 Bt B
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